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Note : (i) All the four questions are compulsory. 

(ii) All the questions carry equal weightage. 

1. Answer the following question in about 

600 words : 
Discuss the various aspects of Nature of Science 

with suitable examples. 

OR 

What methods/strategies do you use to teach the 
lesson 'Pollination ? Illustrate your answer with 
suitable examples. 

2. Answer the following question in about 

600 words : 

What is meant by 'hypothesis ? Why do we use 
inductive and/or deductive logic while framing 

a hypothesis ? 
OR 

Discuss the strategies of teaching science to 
children with disabilities/ special needs. 
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3. Answer any four of the following questions in 
about 150 words each : 
(a) Explain the meaning of 'laws and theories' 

in science with suitable examples. 
(b) Design two activities to teach the concept 

'Chemical Change'. 
(c) Explain the different ways of oraganising 

and representing data in a scientific 
investigation. 

(d) How do teachers use children's ideas/prior 
knowledge while teaching science ? 

(e) Explain the role of language in science 
learning. 

(f) Design any two activities to teach the 
concept 'Balanced diet'. 

4. Answer the following question in about 
600 words. 

Describe the steps of a Unit Plan. Select any one 
unit from Class VIII science textbook and prepare 
an outline of the unit plan. 
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